=a Is
<
R == 3

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

)

)

a.

- BERA)
BryvikHF#

~
~
~

INE SRR FH

S Th

&
®

% (LGSTHIFXFE

& 450/ (LGSTiBAO &)

B 4507

~
~
~
~
~

-0 t9.5

G )

=
=
Tl

—_
—_

T,
X

izl
eizs]

FREAREMEMBO1257x 180 (LGSTH#h

SRFLZEO T

BAZE E RO 1257 % 180 (LGSTF #ufA O %3 5 %

a.
a.

RFMLETHEE - #
R EstL - BES

RFRBROHH

e
BX
iR

n

w=
BX

B1

B &ENo.

A11/138

BO

B4

B3

B6
B5

AN

AN
N

AN

\/]

R

AN

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

fFaEIE

L
X

HEE
Ao

7T
==

RRFHE

B
Ell

i

X

mf
o
R
BEX)
&= &
B
| =
H | X
)
D]
k.
fup
=
K
E | <«
e —
HE | S
=
w® | e
-— | o
x | X
o |iE
— | I
E= 4
a8
5 | &
3
L g
€

TOR]

O

XC2

REPHH

R | —

AHUZE

9100

16400

1 [ 1
VA A A A A S A A A e
S S S S S S S S S

I ] I ]
xd- - o s s s s s s s s

A A A A A A A A
A A A A A A A A A I A A A A A A A A A A A A 4

VA A A A A A A A S A A A A A A A A A A A A A A S

O A A A A A A A S A e

VA A A A A A A A A A A A VA
VA A A A A A A A A A A A
VA A A A A A A A A / /

] I ] A} ] I 1
GGG / GG /
\»J.T\\\\\\\_\\\\
A A A A
A A A A A A A A A4

I ] I
xd- s s s
A A A A A
U A A R A A A A4
A A A A A A A A4
A A A A A A A A A A A A A A A A A A A A A A A

(e2)

2300

3, 030
1,820 1910

K FHBIEA
R HBIEA

:"ftr

i
R
=3

RIFHIEA

1,820 910
1,820 910

MR=E
RHABIEC

RIFHIEA

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

(a1

IIIIIIIIIIIIIIII

5000

06¢< 0G6¢€

®

0006€

® &

® & & 6 6

00¢¢

&

1100

B2# S3SEXAMNKE

2021%3R

B2#& 3EXHANKK

T542-0081

I

o,

FER

i

+H3% 38 H




